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1. 2FEE EEXE)
1) 1 S&EFr: 270X15=4, 050 m
tatsmiE - 4, 050—575=3,475 m
(HEpR9) SEE $HEE SHEE8 SEE X FEB
260X2 +8x3 +7X2 +5X2 +7X1 =575 m
2) 25HEPr: 77X15=1,155 m
tatsimiE 0 1, 155—171=984 m
(HEpR9) SEE HEEP FEERE
TTX2 +7X1 +10X1=1T1l m
3) &&t
¥t 4 05041, 155=5,205 m
YEASIEFE 3, 475+ 984=4,459 m

2. F%AER
1) BENE . REES SHESIER. N FEREEMERVCERE TS,
(#=F24Y) (2704+77) X1.5 (F#5) =521 m
5, 205—521=4, 684 m
Lo T, ER@EE 4600 m
2) BIFE  FEEMEITETEICH (T AT E MRS 520 £k
3) HEAR : FECHERIERED T0% LLAET L 3,000 m
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